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QUESTION 1

IBM Watson loT supports which protocols for communication with 10T devices?
A. DNP3

B. MQTT

C. ModBus

D. TPS

Correct Answer: B

QUESTION 2

Which are two limitations of the CouchBackup tool?

A. The database cannot be accessed while the tool is running

B. Index definitions are backed up by the tool but the content of indexes is not

C. it does not offer a way to restore backups

D. It\V's not possible to embed tool commands into UNIX shell scripts

E. Attachments are not backed up by the tool

Correct Answer: BE
https://cloud.ibm.com/docs/services/Cloudant?topic=cloudant-ibm-cloudant-backup-and-recovery

The CouchBackup tools have the following limitations:

security settings are not backed up by the tools.

Attachments are not backed up by the tools.

Backups are not precisely accurate "point-in-time" snapshots.

The reason is that the documents in the database are retrieved in batches, but other applications might be
updating documents at the same time. Therefore, the data in the database can change between the times
when the first and last batches are read. Index definitions that are held in design documents are backed
up, but the content of indexes is not backed up.

This limitation means that when data is restored, the indexes must be rebuilt.

The rebuilding might take a considerable amount of time, depending on how much data is restored.
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QUESTION 3
Which statement is true regarding SAN storage in IBM Cloud Virtual Servers?

A. Moved disks keep the storage type of the source server

B. Public virtual servers that use balanced local storage can detach secondary disks

C. It is built on disks that are local to the virtual server host
D. All secondary disks are attached as portable storage

Correct Answer: B

QUESTION 4

What does Zerto on IBM Cloud provide?

A. Replication and disaster recovery functions

B. Data security for virtual environments

C. 24x7 highly available service to manage encryption keys
D. Encryption al the operating system and data level

Correct Answer: A

QUESTION 5

When does an organization realize the benefits of an APl economy?
A. When APIs can replace SQL queries

B. When all transactions are API based

C. When APIs become part of the business model

D. When logging of API calls is available

Correct Answer: B
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